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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.  Three days after he confessed, he recanted, saying his brother Johnny and a man named Raoul were involved -- but not him. Dexter, the son of the man he killed in 1968, supported his attempts to get a new trial, but a 2000 Justice Department probe found no wrongdoing in his conviction. Who is this man who assassinated Martin Luther King?

ANSWER: James Earl Ray
2. 
Earthworms have a smooth circle of tissue on the outside of their bodies that is very noticeable. This is where mating earthworms attach to each other; what is this smooth tissue called?

ANSWER: clitellum
3.  The European Union ruled in 2004 that this component of Windows violated EU anti-trust regulations. In response, Microsoft is selling a version of Windows without it in the EU. What is this component of Windows, a direct competitor to Real Player?

ANSWER: Windows Media Player (prompt on "Win MP")

4.  What common feature is shared by the stars 16 Cygni [SIG-nee] B, Epsilon Eridani [air-rih-DAH-nee] and Rho Cancri [KAN-kree]? 

ANSWER: they all have planets (accept equivalents)

5.  Amory Blaine is a student at Princeton in which novel, the first by F. Scott Fitzgerald?

ANSWER: This Side of Paradise
6.  This land area was created by the Hay-Bunau-Varilla [hay BEW-noh vah-REE-yah] Treaty on November 18, 1903. It was 553 square miles in area, and ten miles wide along its entire length. In 1999, it was abolished and returned to the country that was split in two by -- what bit of formerly American territory surrounding a strategic waterway?

ANSWER: Panama Canal Zone (prompt on Canal Zone)

7.
Designed and built by the US Army for the purpose of calculating ballistic firing tables, it operated from 1947 to 1955 at the Aberdeen Proving Grounds. Using decimal notation, rather than the binary used by the Z3 and Mark I, this was what early computer?

ANSWER: ENIAC [EE-nee-ak] or Electronic Numerical Integrator and Computer
8.  In what Dr. Seuss book will you find these lines:  "I meant what I said / And I said what I meant. . . / An elephant's faithful / One hundred per cent"?

ANSWER: Horton Hatches the Egg (prompt on “Horton”)

9.  This Caribbean island made some news in January when its Prime Minister, Owen Arthur, announced a desire to create a republic and cut ties to the British crown. Bridgetown is the capital of -- what nation which has a blue and yellow flag with a black trident in the center, and which was famous in the 18th century for its sugar plantations?

ANSWER: Barbados
10.  Through the influence of his shrewd but miserly uncle, he secures a post as an assistant master at Dotheboys Hall, a wretched school for boys. Name this Charles Dickens title character who thrashed his brutal employer, Wackford Squeers, quit the school, and returned to London to better his fortune. 

ANSWER: Nicholas Nickleby
11.  THIS IS A COMPUTATION QUESTION. The molar mass of sulfuric acid is 98. If you dissolve 196 grams of sulfuric acid in sufficient water to make 500 milliliters of solution, what would the solution’s molarity be?

ANSWER: 4 M (196 g x (mol / 98 g) x (1 L / 0.5 L) = 4 mol/L)

12.  This cartoon character is Bill Fagerbakke's most famous voice role. During the movie based on his series, he is pictured as having a crush on Mindy the Mermaid. He usually wears green and purple swimming trunks, and is usually not very bright. Who is this pink-colored best friend of SpongeBob SquarePants? 

ANSWER: Patrick Starfish 

13.
This structure took 20,000 workers almost twenty years to build, and was completed in 1648. It contains four minarets resting on the plinth and a white marble dome topped by a marble pinnacle. A reflecting pool leads to the main structure of what mausoleum for Arjunand [ar-JOO-nand] Banu [BAH-noo] Begum, the chief consort to Shah Jahan, located in Agra, India?

ANSWER: Taj Mahal
14.  Despite the fact that her marriage was annulled before her execution, she was executed on February 13, 1542, for adultery. Thomas Culpeper and Francis Durham were the probable lovers of -- what cousin of Anne Boelyn and fifth wife of Henry VIII?

ANSWER: Catherine Howard (prompt on simply Catherine)

15.  THIS IS A COMPUTATION QUESTION. A bus drives the 700 miles from South Bend, Indiana, to Williamsburg, Virginia. The trip takes 16 hours, with 2 hours for stops for food and gas. While driving, what speed must the bus driver have been averaging?

ANSWER: 50 miles per hour (16 - 2 = 14 and 700 / 14 = 50)

Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
Most of the brightest objects in the sky are close to us. What star is the brightest object in the nighttime sky after Venus and the moon?

ANSWER: Sirius (accept alpha Canis Major or alpha Canis Majoris; prompt on “Dog Star”)

1B.
What scandal during the Ulysses S. Grant administration involved the Union Pacific Railroad and a construction company?

ANSWER: Credit Mobilier (moh-bih-LEE-ay)

2A.
What priestess of Aphrodite threw herself from her tower into the Hellespont (HEL-es-pont) after her lover Leander drowned in its cold waters?

ANSWER: Hero
2B. 
THIS IS A COMPUTATION QUESTION. A woman averages 45 minutes a day heading to her job and 45 minutes a day heading back. If she has 50 five-day workweeks in a year, how many hours a year does she spend commuting?

ANSWER: 375 hours/year (90 min/day x 5 days/week x 50 weeks/year = 375 hours/year)

3A.
What is the measure of an angle ABC, where A, B and C are points on a circle, and AC is a diameter of the circle?

ANSWER: 90 degrees (It's Thales' theorem)

3B.
Name the Russian physiologist whose work was summarized in Lectures on Conditioned Reflexes, published in 1926.

ANSWER: Ivan Petrovich Pavlov
4A.
Who was the first President of South Korea and ruler of that country during the Korean War?

ANSWER: Syngman Rhee or Rhee Syngman
4B.
Cassie Logan is the main character of what book by Mildred D. Taylor?

ANSWER: Roll of Thunder, Hear My Cry
5A.
One of the earliest Greek poets, he is often called the father of Greek didactic poetry. Name this man who wrote the epic Theogony.

ANSWER: Hesiod [HEE-see-ud]

5B.
Virginia Senator William Mims from Loudoun County has proposed a bill that would prohibit drivers under age 18 from using -- what objects when driving?

ANSWER: cell phones (accept mobile phones or cellular phones)

6A. THIS IS A COMPUTATION QUESTION. Two moles of nitric oxide combine with oxygen to produce two moles of nitrogen dioxide and 150 kilojoules of energy. How much energy, in kilojoules, will be released if 0.8 moles of nitric oxide are used?

ANSWER: 60 kJ

6B.
Parker Bohn, Walter Ray Williams Jr., Pete Weber, and Earl Anthony are all Hall of Famers in which indoor sport?

ANSWER: bowling
7A. THIS IS A COMPUTATION QUESTION. What is the mean of the terms 45, 67, 34, 45, 68, 34, 23 and 56?

ANSWER: 46.5
7B.
What type of mutual fund attempts to keep a stable price of $1 per share and invests only in short-term Treasuries and bank CD's?

ANSWER: money market fund

8A.
David Harrington, John Sherba, Hank Dutt, and Jennifer Culp are the members of what San Francisco-based string quartet that shares their name with the Titan who ruled the universe before he was overthrown by his son?
ANSWER: Kronos Quartet 

8B.
The title character is freed from his bonds and reunited with his wife, Asia, in what Percy Bysshe Shelley lyric drama?

ANSWER: Prometheus Unbound
9A.
The Compromise of 1867 installed a dual monarchy in -- what European nation?

ANSWER: Austria-Hungary or the Austro-Hungarian Empire

9B.
Inside a chloroplast, there are stacks of membranous sacs called thylakoids that contain chlorophyll. What is the liquid called that surrounds the thylakoids?

ANSWER: stroma
10A.
What two-word term can refer to a fraud or a swindle or to an amusement in which a person hides a small object under one of three thimbles or cups, then shuffles them while spectators bet on the object's final location?

ANSWER: shell game
10B. THIS A COMPUTATION QUESTION. What is the complex binomial 6 minus 3i multiplied by the complex binomial 4 + 6i, in standard form?

ANSWER: 42 + 24i (FOIL gives us 24 + 36i - 12i - 18i2 --> 24 + 24i + 18 --> 42 + 24i)

Third period, 15 toss-ups, worth 10 points
1.
Several of these exist today, including Michael from Kansas and Pius XIII from Montana. The first person to be labelled as one was St. Hippolytus (hih-POH-lie-tuss), who eventually reconciled with Pontian, the legitimate Pope. What name is given to someone elected Pope by a method other than by the College of Cardinals?

ANSWER: antipopes (prompt on “false Popes” or “claimants to the Papacy”)

2.  It is also known as Public Law 101-336 [101 dash 336] and was signed into law on July 26, 1990, by the elder George Bush. Conditions such as alcoholism and transsexuality are specifically excluded. A guide dog for a blind person can enter any public place due to -- what law designed to protect the rights of the disabled?

ANSWER: Americans with Disabilities Act of 1990 or ADA
3.   Edward Appleton won a Nobel Prize for his study of what layer of the atmosphere that reflects radio signals thanks to its charged particles?

ANSWER: ionosphere
4.  The book that is the basis of the Oscar-winning Best Picture of 1985 features a young gazelle named "Lulu." What is this book written in 1937 by Isak Dinesen?

ANSWER: Out of Africa
5.  THIS IS A COMPUTATION QUESTION. What is the tangent of eleven pi over six radians?

ANSWER: negative SQRT(3) / 3 (accept negative one over the square root of three)

6.  In ancient Greece, this word originally described anyone who overthrew a government, such as Pisistratus [pie-SIH-strah-tus] of Athens. It only got a bad reputation after Sparta put thirty of them in charge of Athens. What is this title that names someone holding absolute power?

ANSWER: tyrant
7.  Identify the indefinite relative adverb in the following sentence: We like to go where the crowd goes.

ANSWER: where
8.  The Levisa Fork River next to this town floods frequently, and there is a plan to move this Virginia town to the other side of the river. It is the home of the Appalachian School of Law and to a high school, the winner of several Group AA wrestling titles. What is this town, the seat of Buchanan County?

ANSWER: Grundy, Virginia

9.  In 1984, this five-team group got all of its teams into the playoffs, even the last-place Bullets.  It has five teams again for the first time since 1988, but this year it may get only one team in, the division winner. The Nets, Raptors, Knicks, Celtics and 76ers all play in which NBA division that may be won by a team with a losing record?

ANSWER: Atlantic Division

10. What law states that the rate of a chemical reaction is proportional to the product of the concentrations of the reactants?

ANSWER: law of Mass Action
11.  This New England city was destroyed by an 1866 fire and its Victorian architecture, especially on its western promenade, is extremely well-preserved. Until 1832 it was the capital of its state. What is this city with 65,000 people that shares its name with another large city in Oregon and is the largest city in Maine?

ANSWER: Portland, Maine (prompt on "Portland")

12. 
This order of mammals contains walruses and seals. Despite the name of the order, giant pandas are also members. Skunks, bears and raccoons are also members of -- what order whose two main members are cats and dogs?

ANSWER: carnivores or Carnivora
13.   "Who knows what women can be when they are finally free to become themselves?" This question appears in what 1963 work by Betty Friedan that inspired much of the modern feminist movement?

ANSWER: The Feminine Mystique 

14.
What two-word phrase can refer to a device placed horizontally over the forward axle of a carriage to provide support and stability during turns or to an extra and unnecessary person or thing?

ANSWER: fifth wheel
15.  He showed how moral precepts develop in his Logical Conditions of a Scientific Treatment of Morality. He outlined how communities can adjust to constant change in Democracy and Education. Name this American philosopher best known for his progressive education school at the University of Chicago, and not for a “decimal system.”

ANSWER: John Dewey
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  The first one of these was in Venice and was on the site of an iron foundry. Until the late 19th century, this term was used to describe the area of a city where Jews were forced to live. What is this term that today describes any poverty-stricken urban area?

ANSWER: ghetto
2.  Translate the English sentence, "Do you speak German," into French. 

ANSWER: Parlez-vous allemand? [par-lay VOO ah-luh-MON] or Parles-tu allemand? [PARL-too ah-luh-MON] or Est-ce que tu parle allemand [eh-sker too parl ah-luh-MON] or Est-ce que vous parlez allemand? [eh-sker voo par-LAY ah-luh-MON]

3.  This instrument can be heard in the soundtrack to the classic film The Third Man.  Today, it specifically refers to the folk-box variety, which is rectangular with a sound hole in the center, and has up to 37 strings.  Yet what six-letter term can also refer to a family of instruments including the piano and the harpsichord, as well as the forerunner to the koto and the dulcimer?

ANSWER: zither 
4.
As the two parts, or arms, of a hyperbola get further away from the foci, they start to look like straight lines. What name is given to these two lines, which the hyperbola will never touch?

ANSWER: asymptotes

5. 
This fat-soluble vitamin is needed for the modification of certain proteins used in blood coagulation. Contained in leafy green vegetables, what is this vitamin that is isolated alphabetically from the other vitamins?

ANSWER: Vitamin K
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